Hi-Tech Institute, Ghaziabad (1075)

THEORY OF MACHINES
Time: 2:30 Hours] [Maximum Marks:50
NOTES:
i) Attempt all questions. Answer any two parts of every question.
ii) Students are advised to specially check the Numerical Data of Question paper in both veéxSions.
If there is any difference in Hindi Translation of any question, the students sho@ld.answer the
question according to the English version.
iii) Use of Pager and Mobile Phone by the students is not allowed.
Q1) a) Explain the difference between machine, mechanism and a structtiré
b) Define inversion and write any four applications of inversion of a slider crank chain.
c) How do you classify kinematic pairs? Illustrate with examgples. [2*¥5=10]
Q2) a) Whatis a cam and a follower? Define cam profile, base circle and pitch curve as applied to cam.
b) State the difference between:
(i) Use of open belt and cross belt. (ii) Initial tension and effective tension.
c) Give a classification of chain, based ofixtheiy tsage. [2*5=10]
Q3) a) Whatis a fly wheel. Describe the applications of fly wheel.
b) Draw and explain the turping.moment diagram of a flywheel of single cylinder double acting
steam engine.
c) Describe the mass moment of inertia and radius of gyration as applied to fly wheel. [2*5=10]
Q4) a) Explain the causes of vibrations in machines.
b) Briefly describe the general types of vibrations.
c) What'do you mean by "Out of balance"? State the importance of balancing in machines. [2*5=10]
Q5) . (a)NDefine the terms: coefficient of fluctuation of speed and coefficient of fluctuation of energy of a

flywheel.
b) Explain the advantages and disadvantages of chain drive over belt drive.

c) Differentiate between a fast and a loose pulley. [2*5=10]
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